8 Imﬂﬂ @' ? Esponenti di 10

Nome: Data: Punteggio: __
4,32 % 10° = 2,01 x 10° =
10° = 1,03+ 10" =
~1x10° = —3x10° =
1> 10" = 3,81 % 10° =
9,45 x 10° = 2% 10° =
—3x10% = 2% 10° =
521+ 10° = 4,56 x 10* =
5%10° = 2,48 = 10" =
5,52 % 10° = 10° =

5,07 x 10° = 106 =
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Esponenti di 10

Nome: Data: Punteggio: __
4,32 x 10° = 432000 2,01 x 10° = 201000
10° = 1000000 1,03 + 10* = 0.000103
~1x10°=-1 -3 x10° =-3
1 x 10* = 10000 3,81 x 10° = 381000
9,45 x 10° = 9450 2 x 10* = 2000
—3 x 10* = —=30000 —2 x 10° = 2000
5,21+ 10° = 0.00521 4,56 x 10* = 45600
5x 10> = 500000 2,48 = 10* = 0.000248
5,52 x 10° = 5520 10°> = 100000
5,07 x 10° = 5070 10° = 1000000
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